s = AE A E IR E
AlB H§ 8RF45% ~ 1185307 1305154 ~ 1685004 8RF45% ~ 1185307 1365155 ~ 165005
8| 1|2 FHE FHE FHE
82|t FHFE FHE
8|3|m FHFE FRIF
8|4|A FHFE FHE
8|5 |% FHE FHE FHE
816|K
8| 7|k FHE
8|8|% FHE FHFE
8|9t FHF FRIF
8 |10| B FHFE FHRIF
8|11| A FHF FHRIF
8 |12| k FHFE
8 [13] K
8| 14| K FHFE
8|15| 2 FHF
8|16| FHFE FHE
8|17| A FHFE FRIF
8|18 A
8|19 & FHE FHE FHE
8120| K
8 |21| & FHE
8|22| % FHRIF FHOFE
8|23| FHF FRIF
8 |24| B FHFE FHE
8|25| A
8|26 & FHFE FHE FHFE
8 [27] K
8 |28| & FHFE
8|20| 2 FHF FHFE
8|30+ FHFE FHE
8|31 A FHFE FRIF




